FM6E3 A 1302 L

TS FEMENIKRBHEFHEAREIE

LHEITHRMNEFICAVSEMXIEIEE (RYVEMA—XDBEBICOVWTIFEMTER
CEE) [TO0LWT, MRDEBMRDELVEET S,

ULk, Bi@EDEEE LTAEZERL. REERURIENEFERDSZA. AV

TLIZRET B,
REHE AT
K4
2FE  ER
K#

Iz B IR FREE T AR [EIETEX 1 02 0 — 4
PEXHERTAIEYE
e S D
#BENIKRWHEHEE BH =

I B IR 5 1T E EHTE R 1538
FEREHRHARM
i —X

M 6e4F£ 5H 31H



HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
1Y Bl HE B
= 1 28, 110, 855
TR A T
= 1 1, 064, 382
TR AE T
= 1 559, 392
A RC-40
m3 100 4, 462 446, 200
LR R A S GWriT, HEIRAHI
= 1 113, 192
K [E] T
= 1 297, 990
TR G S ]
=] 6 49, 665 297, 990
BRET
= 1 207, 000
[EEN
m2 5, 000 41. 4 207, 000
v
= 1 104, 120
I L
= 1 49, 572
I (WoBA) +H
m3 90 550. 8 49, 572
HEL T
= 1 54, 548
HEL e 85 L
m3 260 209. 8 54, 548

-1- E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TR T AR[E D T
= 1 1,097,915
AR[E D7 my) T
= 1 1,097,915
FRE D7 my s 7wy ) FEEE (B2 &) 4. 002 t
& 133 5,303 705, 299
TH AR [E D77y i 7wy FEAE (R ) 4. 002 t FEiA
Fr-PEAH (EF)
= 1 392, 616
THAERK T
= 1 275,776
THAERK T
= 1 114, 730
PR (L) B - 4. 0omPd |
m3 110 1,043 114, 730
FERIIELS AN
= 1 26, 166
RS AC R =) ML ML
m2 60 436. 1 26, 166
AT
= 1 62, 940
HaAEY-h WEAEY-b T (R e 5
m2 60 1,049 62, 940
BoAE T
= 1 71, 940
I e i (3 - BT ) RC-40 t=150mm
m2 66 1,090 71, 940
Y B HESR A JE P i 1
= 1 18, 370, 240

-2- E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
5 1E Al T
= 1 18, 370, 240
HRPE (REIKT) B LA BERMIS AL 7" VEiyabav))=p7 )
500 X 500 X 450 ¢ 200
m 280 65, 608 18, 370, 240
TEAALER T
= 1 6, 131, 450
TEAALER T
= 1 6, 131, 450
AR
m2 8, 800 344. 4 3,030, 720
TEAE S
m2 8, 800 146.9 1,292, 720
WGy By (53 3
t 96 14, 125 1, 356, 000
WGy By HRER
t 30 15, 067 452,010
e
= 1 887, 062
YRR B L
= 1 887, 062
KA+ 5 FiY) R - BRE
= 1 761, 592
KA+ 5 FEY) &N
= 1 125, 470
iR AT
= 1 179, 910
ERY N <o
= 1 179, 910

E s Abkei )7 &6 R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
[EREYi]
m2 10 13,711 137,110
E AR K
m2 10 4, 280 42, 800
HEHS R
= 1 2,380, 113
JE T
= 1 521, 383
I L
= 1 267, 544
I 4 -7 b
m3 390 327.3 127, 647
b S TE b Cash ERIRY L&)
= 1 139, 897
2N
= 1 16, 728
PR (SR B - 2. 5mPh 4. OmA i
m3 20 836. 4 16, 728
L 1T
= 1 183, 897
EE R (B) 1350) VI A 0 R O - kM -
m2 210 875.7 183, 897
P T
= 1 53, 214
B S AVHE T O ALE]
= 1 53, 214
R
= 1 220, 290
-4 - ELARims  Abkizhh )y 80w &




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
AT
= 1 220, 290
HEAEY-h REAEY-h T (R e 5
m2 210 1,049 220, 290
AT
= 1 364, 500
TAT7 V%S T
= 1 364, 500
B R (FE - BTR D M-40 t=80mm
m2 121 822.9 99, 570
F g (8 - B T) s BET A3y (HT20FH) BAEM A t=4
Omm
m2 121 1,530 185, 130
7AN-7" HRLEET22V/5F 200cm2
m 60 1,330 79, 800
A /AT
= 1 1,273, 940
EZE LT
= 1 1,180, 110
KRR
= 1 351, 360
MRL
= 1 343, 300
MRL W (Jyvav )
= 1 453, 450
b TE b Cash ERIRY L&)
= 1 32, 000
BT (B )
= 1 93, 830

E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
R FEP ¢ 65 X 35%
m 54 1,584 85, 536
HIER TRV —h W=150mm 2f%
m 54 153.6 8,294
B T HE
= 1 30, 490, 968
BTl E:
= 1 4,461, 111
BTl E:
= 1 364, 719
Htre m
= 1 6, 874
A7 b R BR
= 1 6, 874
BUGERRYGEE (5 1)
= 1 357, 845
MR R (L)
= 1 4, 096, 392
Wi
= 1 34, 952, 079
BTk X=giiv oy
= 1 11, 591, 378
R 5]
= 1 46, 543, 457
— e
= 1 8, 536, 543
TSk
= 1 55, 080, 000

-6 - E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
THE B 2 %8
= 1 5, 508, 000
TG
= 1 60, 588, 000

-7~ E s Abkei )7 &6 R



